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Outcome 3 - Metric & Imperial Measures for Weight

Bronze examples

Silver examples

Gold examples

7 N

Examples...

5:39kg= 5390g 0-82tonnes= 820 kg
( x 1000!) (= 1000!)

79-3 tonnes = 79 300000¢g
( x 1000 000! )

604g=0604kg B2kg= 0-052tonnes
(+1000!) (+10001)

4 g= 0-000004 tonnes
(1000 000!)
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Examples. .

A bag of sugar weighs
6 pounds. How much
is this in grams?
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6 x 45359 = 2721-54 grams

Lucy recently achieved
her target weight of
10 stone. How much is
this in kilograms?

10 x 6:35 = 635 kilograms

Examples. .

The weight of acowis 14361b. ZF<3
What is this in tonnes? n

1436 453-69+ 1000000
= 0-66135524 tonnes

A boxer weighs 13 st 4 |b.
How much does he weigh in kilograms?

Change the stones into kilograms
13x 6-365=82-BE5kg

Change the pounds into kilograms
4 < 453-59+ 1000 = 1-81436 kg

Add them together
82-55+1-81436=84-36436 kg
| ]

o

r'-

A N SN
Bronze Questions 1 Unit | Abbrev. | Metric Links
o ounce 0z 28-:36g | 16o0z=11b
Change the following units ~y pound Ib 45359g |16 0z=11b
of weight... 14 |b = 1 stone
T T 6-3b k 14 |b = 1 st
& 078kg=?g & 008 tonnes = ? kg stone s 9 stone
Silver Questions
= OOlétonnes=2g & 61kg=2?g P
1 A baby's bottle contains 5 oz. oy
' What is this weight in grams? G ,é,/
& 409tonnes =2kg & 8369g=2kg
& A heavyweight boxer weights 215 Ibs.
What is his weight in grams?
166 kg =2t 3686 g=2t
& 9 ornes 8 9 onnes we Johnweighed himself at the gym. =
He is 17 st. How much does he weigh
in kil ?
8 723g:=2kg 483 4567 kg = ? tonnes i regramns

Gold Questions

o The average human brain weighs 49 ounces.

How many kilograms is this?
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& The weight of anelephant is 803 st.

What is this in tonnes?

A weight bar is 64 |bs.
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How many kilograms is this?

& Robert weighs 12 st 7 Ib.

Metric & Imperial Measures for Weight

{Bi? I

How much is this in kilograms?

How heavy are they

in grams?

A weight lifter is using 30 Ib dumbbells. ?
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Bronze Answers

1. 780¢ 2. 80kg

3. 16000¢g 4. 6100g

5. 4090kg 6. 0-836kg

7. 0-00156 tonnes 8. 0-003586 tonnes
9. 0-0723kg 10. 4-567 tonnes

Silver Answers

1. 1417b6g 2. 97b21-8bg

3. 10795kg 4. 136077g

Gold Answers

1. 1-38916kg 2. 5-09905 tonnes

3. 29-02976kg 4. 79-37513kg
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